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Rallye-calcul : étoile orange 

date prénom : 
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A 

24 + 59 = 

254 + 31 =  

57 + 19 = 

152 + 39 =  

52 + 21 = 

84 + 41 =  

34 + 445 ≈   

687 + 21 ≈   

39 + 48 ≈   

38 + 129 ≈   

732 + 68 ≈   

681 + 27 ≈   



  2 

6 × 3 = 

9 × 6 =  

3 × 6 = 

5 × 9 = 

7 × 3 = 

8 × 9 = 

Étoile orange 

6 × 30 = 

8 × 90 = 

4 × 9 000 = 

3 × 600 = 

7 × 60 = 

5 × 300 = 

132 48 58 34 76 

4 ×  

8 ×  

= 12 

= 72 

9 ×  

5 ×  

= 45 

= 30 

6 ×  

5 ×  

= 36 

= 40 

5 - 9 =  

27 - 11 = 

287 - 11 = 

395 - 9 = 

67 - 9 = 

42 - 9 = 

391 - 88 ≈   

325 - 71 ≈   

268 - 99 ≈   

321 - 8 ≈   

98 - 23 ≈   

972 -11 ≈   


